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UNIVERSITTES OF MANCUESTER, LIVERPOQL,
LEEDS, SHEFFIELD AND BIRHINGHAM.

SCHOOL CERTIPICATE EXAMINATION.

TWQ HOURS.

Angwer ALL questions in Section A and any THRER
questions Lrom Section B,

In Qreeations 1, 2 ond 3 o condidats weed not wovite
dovm more of Kis working fhaw ke finde it convenient
t0do; in all other questions Jull explanaions and
all recessory delmls of working are requiired.

Sxcrion A.
Mathematicol tables must noT be used in thi section,

AL (a) Simplify (12} +1] =(3F=2§.
(b} Divide 903 by 0-021.
{7} Find the square root of 49 1401,

A2 (d) Find Ww oost of 5 tons 13 ewt. of

ooal gt £3. 150 ton,

) After o diswount of 5% i§ made,
W price of an arliclo i 04 Os. 9. What was
the ariginal price of the articks?

(&) On what sum of money is £3. 15, G
the eimple interpit for 7 months at 2] % per
sonum?



A3, (o) A pisca of wirs 342 em, buyg waighs
57 g Find, in owtres, tha length of & piscs of
wire of the aame crose-eeation whivh would woigh
throe-qunrtors of o Lilogromme.

(¥ In an examinabion Lwo papers were gat
nd tha marks awarded on te Loro papee wivh i
the ratio 2: 3 .-\ eandidate ohtained 30 %, on the
Brst papor and 65 %, oo the sscond.  Whnt pevoantage
did ho oblam of the tolal marks?

fc) The aversge of 12 numbers is 7-80.
The avarage of 8 of om in 7-76. What is the
averags of the remsining 4

A4 What is the coat of lining e inside of =
choasd cylivdrical tank of interonl dinmotor 716,
wid iotornnl Jungth 8 R G, ab 2e, 6. por sq. B4,
vasuming Lhat = w3

A5, Whon butter costa 285 krooen » kilo-
gaioe in Demwark it @ oatimotod thal tie
ncquvnlmt price in Euglond would bo 1u 4d. » 1o

Wiat, is e rato of alLIm\go in kronen to U £,
correct to threa significant figures, sasuming that
1 kllogmmmn--}ﬂ



5)

Szeriox B.
Asswer any THREE qoestions in Sectica B.

Mathematizal lables muet %ot be used in
Questions 6, 7 and &,

B6. A wnd B work gioilsr machines but A's
rate of working i3 10 B's iu the ratio 11:10.
A works & 5-dag waok of 9 hours & day and B a
Sl-duy week of 8 howrs & day. A deduction of
2. 6d. o week is wade from each man's wiges for
nsurnnce, ¢to. I A then receives £5. tx n weok,
what should B When receive?

BT. A rotailer sold radio sets sl £25 sich at a
profit of 25 % on the cost ywice. 1{ the price to
the retailar i incressed by £1 what sheuld now be
his wellissg prics in order ta make the svemo percentage
profit as previously ?

After the increase in price the number ol
s0ta wld in & week dumwd}l); 10 %. Exprees the
profit now mads in a wosk by the ro as a
srrcentage of the weakly profit made before the
invrease 1n price.

B 8. (a) Calcointe, correct to (wo plocos of
docimnlg, the rate per cent. per nnnum received on
wexiky jnvested in & 3§ % stook at 92

(%) A rman sold his holding of £4,200 of

o stoek at 93 nml invested the proceeds i w

sluck, thus inczessing his income by £6.
Whas wns the price of the new slock ?

[Turn over.
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BY. (a) A=37" 34'; uss tables o find the
valuea of sin (90° - 4), oot (90°+4) and
tan (180° - 4).
() A and B wre moute angtes.  Find
A and B it sin (4 -2 ) «0-4168 and
008 (24 +B)y= 09119,

In the erane shown in tho figure, BC =6 1. 710
Calealats the leogth of @ AH, (i) AC, (i) CD,
ench o the nsarest inch.

Bif. ABCD is o rectangular bosrd in which
4B=41t. and BC=3{i. AD resta on horizontal

und and Lhe board i inclined to the ground.
57’ in the peependicular from C to the ground st
the angle CDP & 70°. (Caloulate

M tho acute angle betwean the dingonals of
the board,

(i) the anglo OAP,

(iii) the angle BAD.



